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3 * 4 means 3 is the mother of 4. o '
3 #4 means 3 is the father of 4. :
3 @ 4 means 3 is the brother of 4. C]
3 & 4 means 3 is the daughter of 4. :":h
3 + 4 means 3 is the son of 4, (_J

Accordingto L@M & N#0+P *Q #ﬂ’ how is M related to R ? D) Uncle
(A) Niece (B) Aunt (C) Nephew (

Tl 21 o e 3w v et R 6 = =2 o S afeqor e T ST SR el & | 1 o forre ot g
fore faem it ofr somor st o

(A) =fe ®) @ (O & (D) afigor-afar

Ramy put his timepiece on the table in ﬂﬁﬁh a way that at 6 p.m. the hour hand points towards the South,
Then towards which direction will the mgalte hand be pointing ?

(A) South (B) East ] (C) North (D) South-West
ferem 77 e Shifsra Ry ‘

(A) TS : g=HH Q (B) et : arer

(C) a9 ; qrHE h \ (DY T I : IR

Find the odd pair : G

(A) Balance : Mass (B) Barometer : Pressure

(C) Thermometer : Temperature <] (D) Screw gauge : Volume

YGTT 1,2, 6,24, H 7T WA 37 Hiforw |

Find the next number in the-serigs 1, 2, 6,24, .

(A) 60 120 (C) 48 (D) 84

[NEKIEEC: B E aﬁa,zozzm’rgmwwﬁa&aﬁwﬁwm#mwlﬁﬁwa::rﬁaﬁ?g&ﬂ
9T ?

(A) HITCTaR (B) Tar o (O Ihan (D) FHAR

D

Siva was born on April 15, 2022. The sz(@: year Independence day was celebrated on Monday. On which

day was Siva born ? Ik

(A) Tuesday (Ei),,Sunday (C) Friday (D) Wednesday
3 ot o e 26 12 3 Frert 6 e SRR

(A) = (B) =Ty (©) fomm \(DYeTET

How is my father’s sister’s son’s father’s ather-in-law related to me ?
(A)  Grandmother (B) Uncle (C) Father, . - s - ' -(D) Grandfather
e 752 CATASTR@PHE % aaﬂﬁammﬁy;aa@amw%,ama;mﬁm TR

' 1f the letters in the word CATASTROPHE aré rearranged in the a]phabt‘t‘ical order, which one will be in
the middle in order after the rearrangement ?

(A) 8 \(99/0 < p . (D) H

KWUM"!&‘QW‘:W --------
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aﬁ:FEMALEEﬁr654135%mﬁw%mwia‘mﬁmaﬁ__ﬁwﬁmw|

If FEMALE is coded as 654135, then LEAF will be codedas . FT e

(A) 3526 (B) 3625 \(&Y 3516 (D) 6523 N
R P 3T Q a1 ST 5 : 6 % 3t Q R AT I 14 15 2, A P AR HT ST FE 2 s
If P and Q are intheratioS:6ananndRareixT the ratio 14:!5,the‘nPﬂndRWi“ be in the ratio : 6 B
(A) 9:7 (B) 8:7 o \(9/7:9 Gowsy (D) 7:8 Qe

Wwaﬁ%%aﬁw&gw@%lm15ﬁ@ﬁ?‘4ifq%mﬁﬂﬁaﬁ“ﬁﬁ5omﬁaﬁ TR EY
WW%WﬁWWﬁmﬁﬁommﬁ%laﬁf\ﬁﬁmwaﬁq%? ﬁ; ‘JJZ :‘LE
300 fRprt ® 2s0fm (1 (© 200 fmd (D) 220 fot 45t 425%5

A bus is going to Coimbatore from Kochi. Wi;§4 stops of 15 minutes each, the average speed of the bus
comes out to be 50 km/hr. But if the driver tak Ahe bus without any stops, the average speed comes out to

be 60 km/hr, How far is Coimbatore from Kochi v C
(A) 300 km (B) 250 km ot (C) 290 km ®), 220km & SY \ A
T G g _—‘a *
: u =
100 BT, \—Go
90 W A Q S
T R & B
80 —=% /7
s v 107 % -
S N s
g 60 S = S
= 1 === —- CRXARKLR LT~ — — e = — — — R — — — — —
& 50 S L
SIS EERtE SERCERGE  EEEEn
‘E 40 - >
30 -
20
01— & I [T o
0 : — . ;
2000 ¢ 2001
. g - . 1
e il oY et HE = 350000 Iefed Tl Y el HEAT = 440000 9
Total No. of Cars Produced = 350006j Total No. of Cars Produced = 440000 —

af 2001 # P W AT T T IeaTeT T 2 FHH BT, A1 2001 F Iefed PSR S Y St e w
el ?

The Bar chart given above shows the percentage of six different types of cars manufactured by a company
over two years. If the percentage production of P type cars in 2001 was the same
would be the number of P type cars produced in 2001 ?

(A) 132000 (B) 225000 (C) 120000

Wﬁmmégaﬁ@@nﬂi}@ﬂﬂ%ﬁﬁﬁﬁﬂ%%—ﬂﬂﬁmﬁmﬂmm%I
0(3<|

as that in 2000, then what

(D) 145000
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12. @13, ,.w,_ﬁwreﬂdwmaﬁﬁﬂ \ 6 C 9
_ Find the \Rx®TnBlr in the series 13, 32, 57, 88, . DL‘13\/ 2
AT 125 (B) 136};5 5oy O 110 () 132 15 ™7
' 13, STHHT HEIT I I | \}\} 9,77
¢ " Find the dissimilar number. G 16 ol
L 216, 343, 504, 512, 729

(A) 216 504, {c) s12 (D) 729 _
DN 14y ﬂ%ﬁmwmma&%ﬁﬁmm%@%mﬁ%gﬂgmwmwmmm -

L 2R ol Fh
1k R S 17.5
o ' 15 <
R 15+
10
: E"'O‘ 7.5 7.5 '
L " 5.
. A 0- .
4 S e E : 85
P e gg} PR 7@[&5
;;& 7&15 P ¢ - ‘t:hg F /-‘::;o 2
| afE forgmo e £ 2.55 0 €, A UitEse 3T T o offe ot S T @ 2
%0 A) TS05TE  \ (Bf TddsTE © 3259 (D) T35.5T@
! The bér graph given below displays the percentage ,dﬁstribution of a company’s total expenditure across
various expense categories for the year 2013, >
, 25
/ 25'}
g2 g5 17.5
i .2 10 C
- B 109 e 75 875
: * C
5 3
,
0- - 1
E 5 g & gp Q8 2 2
(=] (5] é hl q E b=
e § 5 5 Qx & 3
g = g 1::] S
E 2 g
=

If the expenditure on advertisement is T 2.55 crores, then the difference between the expenditure on
transport and taxes is ;

oo (A) ¥50.5 lakhs (B) T42.5 lakhs (C) %32.5 lakhs (D) %35.5 lakhs
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16.

17.

19.

20.

21.

mo » ‘ﬂ_&_’:f
e e o i & sreer R s, A afvr-afim Y s g S s 2

(A) IR-afam (B) wRm ) aforgd (DY I

If East is replaced by West, then South-West will be replaced by :

(A) North-West (B) West (C) South-East (D) North-East

qE 211 227,233, 241, \§ F ol g q@ el

Find the ekt nugnbe@in the series 211, 227, 233, 240 S ; (9218 523
(A) 263 By 257 odC) 251 (D) 277

af& SCREW #T RCSWE 3 &7 i f@r S e, 'cﬁ.NﬁlsaﬁsHmﬁa@mm: Toh

If SCREW is written as RCSWE, then NAILS will B written as :
(A) AILNS (B) IANSL ) NAISL \(P) INALS

Ueh STRIATHR HQT <l Tas ST <Igré s 8 : 7a\:mgmﬁﬁmrsﬁmqrwq%saﬁﬁ,sﬂﬁmawﬁm
afmTy % srfe 28.8 frei/er i & 2.5 i G TR T T | E1 T ST T E ?

(A) 89600 = =Y, (B) 84600 . <o) 79600 =T (D) 99600 I .

A rectangular field has its length and breadth in the ratio of 8 : 7 respectively? A man riding a bicycle, ‘

A

completes one lap of this field along its perimeter at the speed of 28.8 kmyvhr in 2.5 minutes. What is t?‘g‘ :

area of the field ? .
(A)- 89600 sq. m (B) 84600 sq. m 5:) 79600 5 m (D) 99600sq.m Y7 9k
: 224
fw T 9152 ““INCIDENCE”” 1 el 37e Rl ST G & 76 Qi aTet Wel foehed T =i | U %
Identify the correct alternative that indicates the n@ber of times each letter appears in the given word g(_—%
““INCIDENCE”. s
(A) I N; C; D Ey \/(’B)/Iz N CD B\ d§) LN, C DBy (D) LN, G D Ey
AR x>y =x3 +y3 a =x3—y3, A IS =
AT ARSI A 37 %57
Ifx>y=x"+y’andx@y=x —y3dlien3>2 @J) = Q)+
(A) 400 (B) 280 370 (D) 420 R+
) 17 STl T SHE eI St T I ST § & aE forhed GRS S Skt 9@
Y S @A | 4s 2
Study the given figures carefully and choose an option from the answer figures that maintains the pattern
observed in the problem figures. 198 Wi
0. A X = ol O @@ - 2R
a7l O P A | A|R? o>
® o = )] A X O }EE?
I m o om v v 3k 2]
] ¢
X A C . O % 3!

(?% OA= ) =xo @Y _xA % c)=A

ety 3 e, ‘%WW%‘W@%W@%WW%?

22.
) et (B) = e ©) weh (D) T
Dhwani said, “This boy is the husband of the granddaughter of my father”, How is Dhwani related to the
boy ?
(A) Granddaughter  (B) Cousin (C) Niece (D) Mother-in-law



23.

24.

25.

26.

28.

Ffaed = & #-61 we o g vree “REACHABLE” % Jciieh 378 T hafel Ueh I SANT ek g1 el
SIRETIER:
Wh‘d; of the following words cannot be Forn{uj using each letter of the given word “REACHABLE” only
once
ol

CHANGE (B) REACH (] (C) CLEAR (D) EACH
AT 98 FAT R 9 <4 i ’
What is the next term ? 2 <,.;]

B:16::E:?
(A) 54 (B) 128 O we§ 62 (D) 64
I @ el R A IS @5 FE? fi"]
If ‘@’ stands for ‘=, whatis 15 @5 ?
(A) 10 \B7 3 (©) 20 (D) 75

ﬁmﬁwﬁwﬁﬁ%hw*ﬁaﬁ%@%%wﬁwaﬁm

Choose the correct sequence of mathematical signs to replace thesplaceholders * in order to balance the

given equation.

e

i feu Ty s aﬂtﬁﬁﬁm%mﬁaﬁﬁwmﬁq
FHY

S (12%7*6) * 132 6
e
42& (A) X’ _s-.'- - \(_B/)/Xs B +s= Cl (C) +9 —’-:—,z (D) - + -
i e 84 <I 7 249
;-t-‘- '2'( 2401 : 343 o G T H J1d AT | ¢
' Find a pair that is similar to 2401 : 343, T \ 6
\}50/256 64 , o (B) 32:4 <;, (C) 216:1916 (D) 9:27 ,\/—?’
4 _. <6

mwwaw%mmmmwmwwmm%mmmm

37S fef, Tifer o6t frh 159 Hfgerratt 3 € grma o dte e |
fem - (‘:1
I el & g i 3 et i T ]!w«
IL. W%w%wﬁmaﬁﬁmwéﬁmﬁmwmw

\Kéﬂaﬁmﬁﬁllmw% (1 (B) TR 1R T E 1 reR e &
(C) heret foreahd 1 STEROT et @ Fe (D) arar R 1 I ST e

Identify the correct option regarding the StatEI{lC"]t and conclusions given below ;
Statement : "\h]

In the rural assembly elections, the ballot box method was used for voting. After the results came
out, it came into light that only 15% of the women in the village voted in the elections.

Conclusions :
I. Women didn’t know about the date of the elections. - -
II. Only those 15% were registered and had a valid voting ID card.

(A) Only conclusion II follows (B) Neither conclusion I nor II follows
(C) Only conclusion I follows (D) Either conclusion I or II follows



29. Tl Ren wwsdt o atieht yraepiar i o s 35 o R AT S St TRt LR 3 -
Arrange the following words as per their order in the English dictionary and choose the one that comes
first :

Elastic; Eldorado; Ejaculate; Electrode '
(A) Eldorado (B) Electrode (C) Elastic \ (> Ejaculate

30, FrerfaRan § 3 fra wrsg 3 v s ol 79 H €2

Which of the following words has its letters in the Epgish alphabetical order ?
' | (D) Acephal

(A) Acepots?(} \@)/‘Acerty 69) Acerous
Freaferfer aheren 7 oot SRR S R e sraf T S AT
o T Trset ot et ST = 3276000 h
7| wer | CFrer 04 SIS
LA 1%11'\‘
7 A 4]
A 5 3 2 7 25%
. B 3 1 I 4 20%
C 2 3 2 ol 8%
- ——
D 3 5 3 olf 02 12%
E 3 4 4 oGl 35%
= by

TSl A, B;ﬁnﬁ@ﬁgﬁ'@wﬁqwuﬁ%@mﬁw%wmﬁﬁ?
| <

Study the following table and answer the question gﬂan below.
Total population of the given States =3276000.

\i,.t v
b L

State ~Gender Literate | Illiterate | % Population
‘ M

A 5 3 2 7 25% ~

FAl™ i

B 31 L 20%

C 2 3 2,10 1 8%

D 3 5 3 ?}:ll 2 12%

E 3 4 4 g 1 35%

What will be the percentage of total number of mals.i in States A, B and D together, to thle total population
of all the given states ? ]

\
(A) 31.15% C(B) 35.1% (C) 30% - - (D) 302%



32.

AN & o, Fesftr o7 § Fefirat Y e s foret g =niee ?

a
o3 13 b
Q  agoxx L 2
3+ Jeo 2kl @
a =L _}j,:’ >~
$ 2:H ’
- : -G ce Sy : OO e
In the corporate sector, what should be the approximafe nmbem central angle ?
‘ Spew Iy, o mr Sp
Others(] [Yo 12,
% o8 <L \_/
Ba;% ' ___9% xP"‘?
2 b \7 1?;0 J“’f}'
/‘,]/Dm’ 7{\)\0

Corporate
Sector
34%

2 | \0{507‘“}5 p?
| “"? r NULe

© 120 w12 B e

(A) 121 (B) 123 G

' @W@mm%maﬂt@m@@m T Y TR ST+ S e YT I AT © | 9%

33.
3t fot and g & | s ST et o Sgggaa: ﬁmﬁwﬁ"ﬂgw%? |
(A) IW-ufEm ®) Bm-gg Q (&Y T - I (D) qj_afam
An athlete starts to run positioning his back to:u:rds the Sun once after sunrise and once before sunset. He
turns left, right and left again. In which directigis he finally running in both scenarios 'respectively ?
(A) North—West  (B) West—East (C) South—North (D) East— South
34. 7 'q;sT EE A -: L mewmden - T w .
Complete the sequence : '
ZA8,YTB,XC6, W5D, e lﬂ
(A) Y4B  \(BY VE4 (© zA4 (D) W4D |
17 S Ve s ——
Page 8 of 24 ™M v




35, ﬁm%fﬁag@wﬁgngmﬁm: |k

Find the missing number in the following series : &
110,132, 156, 210,240
(&) 1848272y (B) 190 (C) 176 D) 182

36. ST ufim fomm & 40 Her erar 2, ﬁqarqggm%aﬂt 30 Het SR T & | aaaﬁwmﬁﬁaﬁ%ﬁaﬁ
- UK R feamE R 0 1SE .
W S0t 2% (O @) a7sfecdhm
(©) 41 Hhex 3w o o (D) 45
James walks 40 metres in the West dlrectlon@ms left and walks another 30 metres. How far and in which
direction is he from his starting point ? Hh '

(A) 50 metres South-West (] (B) 47 metres South
(C) 41 metres North 5 (D) 45 metres East
37. aﬁmmmﬁaﬁrﬁm%ﬁa&maﬁ 41 o o Frg R A R E 2
SZA ® fm S (© IN ®)
Which way are you facing now, if you spin 2 degrees clockwise from North at the beginning ? a0
(A) West (B) South (C) North (D) East

38. qanawra:rrrﬁamw&:mmﬁz&% m%lﬁmﬁamﬁaﬁqmm%mmﬁﬁv 10
' The printed price of an article is 40% higher than its cost price:_ Then what is the rate of discount 50 that
the gain is 12% profit ?

(A 15% (B) 18% o \19)/20% - (D) 21%
39. | U I A € 1,700 F H R, @Wﬁ@% I 7 ot ¢ | 20%mmm%%ﬁ¢q3ﬁ3vamaﬁ
e AR 2
On selling an article for 71,700, a shopkee@ loses 15%. To gain 20%, at what pnce must he sell that
+ article ?- : :
(A) 2120 (B) ©2,100 pia (©) 22,155 \AD) %2,400 :
| U & forsha = Ueh ek st 10% i g |'w%aagﬁf1,osoaﬁ$wéam,ﬁ3a10%mw
‘sﬁmma‘?ﬁﬁmmaﬁﬁm | _;. : o P
A book vendor sold a book at aloss'of 10%. Had he sold it for ¥ 1,080 more, he would have eamed a préfit. b
_of 10%. Find out the cost of fhe book. " e e
1A) 75,400 (B) "%7,400 (©) T4420 D) T6,480 - 7oy .

4175 T T 5 8 BT ST ST SF3h By et 5.1 o3 9 31 T 6.8 o1 | 17 BT 5 o E AL L -

*#Fhe average of marks obtained in an examinilon by 8 students was 5.1 and by 9 other students was 6.8.°

o - The a’verage marks of the 17 students were : 7 P P e o
: (A) 598> (B) 6.5 o 59 BT 6.0 &y
4. mmmyﬁwaﬂﬂmzé%mﬁmm{uﬁw%? L AR
¢ The ayerage of seven consecutive positive m%ers is 126. The smallest of these mtegers is: ,W)
"§AY 123 (B) 126 (©) 122 e (D) 135 CoQAr L, +3-4 =

43. @aﬁ?ﬁwaﬁrqﬁwm3 4%|trf%.@m?ﬁatmaﬂt 10 et orft e &, a‘raq:rrrm 5 QST @
%lmﬁ?ﬁrﬁrﬂwzﬁmﬁmﬂsﬁ-eﬁv
70 &ftex " (B) 80X n (C) SOFﬁE( (D) ZOFﬂE{ | 5
The ratio of milk and water in a pot is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio-, SOEE
. becomes 4 : 5. How much quantity of total mixture was present 1n1t1ally ? .

(A) 70 lztfes__-_------S?)--%Q_ltffe_s_ ______ ... S0lires ™ (D) 20litres
KWuU-24 Vool al ST Pagc90f24 S
RONTT W ST, NG
s [RE — 2R xh L’ﬁx—c ( - 2 fon'y
Lo R ORI U s e

-_— » g bl b BT B vovw L - s
' 0 | A r A " ) , {_‘-i "". o 5
L — — s o , N =2 ) ] 9@) .

-~



Lo M /‘/E?'E/xwo

. .
4. A HRB Wier 2wl ws 3 | AR B Y A 3 I o T ST &, o A 60% g ST € 1 3fE B H A FH A H
BT AT T, Y A 311 B 26 et 1St oY et fohT STt e g ST ?
A and B are two heavy steel blocks. If B is placed on top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight of A and B, if B is removed from the top of A ?.‘-Gb
pi NS

(A) 45.5% (B 37.5% @ 60% (D) 40%

45,  WUTOT SATS 9 20 1§ e EAURT = A @ St & Pt 2w g Ak | _ 8
A sum of money becomes four times in 20 years at siyfiple interest. Find the rate of interest. "0 X %, p_
(A) 20% (B) 8% 15% (D) 5% | X2

46.  10% 1 T2 3 FH TS 8% o1 T STH e o o1, 57 vyger & ffer s <t fore sfevere gfe @At <fere 2
To gain 8% after allowmg a discount of 10%, by v@t percent must the marked price be hiked from the

nf  3f CPcostpnce‘?
loo 3o MA) 11% B 20% Q 19% (D) 18%
oo 3T B oY AT T AT 3 : 2 | 7@ T 1, ST AT T AT 80 BT | Sehi AHT AT (<11 H) whoer:
, AR
fohat & 2 S hGas

' X ,g;l' he ratio of the ages of A and B is 3 : 2. Ten years hence, the sum of their ages will be 80. What are their

ol respective present ages (in years) ? g¢ +° 2 SR X6 x36 g€ 3% Mr SP sy
f ' 6a D 616 o 9 g
\M 36, o (B) 45,30 0)( 27,18 (D) 42,28 |

48. UH S ¥ 3,825 IR T @ 3R I & AHIT 1N, ﬁﬁﬁma«%ﬂ%laﬁw&;m@m
HATRIT) Y Fien 3T 4% B, A weden o T e l

A doctor borrowed T 3,825 and he returned fhe money*in two equal yearly instalments. If the annual rat/of

compound interest (compounded annually)is 4%, thém:fing the value of each instalment. p e W—‘_WQ? )
(A) 2,377 (B) 1,783 2,028 (D) 32,275 ACH
xtyz H6

<) HEATAY T ATHS 36 & S ITTHRA A, (HCF) 4 & e AT & fohe g ava € 7 12t
T. ,(«ﬂz vt The sum of the two numbers is36 and their HCF is 4. How many pairs of these numbers are possible ?
e B2 s ®). 4 1 3  Fxe=Rxhe
@ Toh {ETIE 23.6 fehml/ae st At & O <ieh i i 30 Hehe H U S © | 3Heh 916, T M, 12.4 Terefi/eie =t
g w%%ﬁaﬁmﬁwﬁaﬁwwﬁaﬁnﬁwﬁmwﬂ%ﬁ@ﬁmﬁmﬁﬁm X2

.QS
,\ﬂf‘f ,\gx)/nmﬂ 20y (B) 120 (C) 1507t (D) 105 .
%5 A train running at'23.6 km/hr takes 30 seconds to pass a platform. Next, it takes 11 seconds to pafﬁ man
walking at 12.4 km/hr in the opposite direction. Fim@e length of the train. OR
26¥™ (A 110m - ,(® 120m | ) 150 m (D) 105 k)
9 &{'5‘1. e BIE-Q-B1) T 1 HIR S 24, 48 37 60 F QU R ERft | | &
W/ Find the smallest number which will be completely drwsible by 24, 48 and 60. W 3‘ °
/‘{ AT 240 ®X o - 120 D) 480 L O
"vdo 52, O &1 U AR 319 @fFeRT 0t 12, 15, Iﬁﬁl@ﬁﬁﬁﬁﬁ@%ﬁﬁﬂwmmﬁlqﬁﬁ

. =TT & 6 & O 3 et F oft sy 1Y, ﬁwéﬁ@]ﬁm'mﬁml
395‘1'*5}4 \;AAH officer of the army wants to arrange his soldlers to stand in rows of 12, 15, 16 and 18. If he wants to
6
/

~

arrange them in a solid square also, then find the minimum number of soldiers,’ -
o) At

(A) 3600 1440 (C) 180 (D) 900 Te %4
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" A
KWU-.24 ) ~ ‘ 22,100“4 R (2, \$,1¢,10 B

" ; . : |k ) 8 R b T
’ 1 3597(&- VD A [g- “U- Y e ) A, ; u.l
e o S ITETIE G5
¢ Go 6%:'1) O S - o
= \/ é 5 a



53.
10 Ve 1 g et § | 37 < ify g AR | . ,
(A) 20 Rewi/ereT (B) 17 frefieier ©) t6fmhERr (D) 18 fefi/efer
A train takes 11 seconds and 10 seconds to cross 2 men who are walking in the same direction of the train
at the speed of 6 km/hr and 5 km/hr respectively. Find the speed of the train.
(A) 20 km/hr (B) 17 km/hr (C) 16 km/hr (D) 18 km/hr
54. o TG TR T Y 150 Rl I g ok w1 AR, 15 mﬂgﬁr FraRRarfi 3 whmeor 5 165 Rt 3 qur e
T | Y g et TR T of
165 I (B) 150 T © 1003 (D) 155 7eIgT s
Some workers could complete a work in 150 days. Howedr, due to the absence of 15 workers it yas/
completed in 165 days. Then the initial number of workers : \ @Xl = \(8
(A) 165 workers (B) 150 workers (C) 10ffworkers (D) 155 workers |
e e
55. A, B F 10% S o1 0 & WIUTOT S 0T 30,000 IUT (Y | 5 A K 1S B BT TR AT
fTT T 40,000 37K T Tt wHeTaT @ | U B e e RS | ﬂ |
A lends T 30,000 to B at the rate of 10% per annum on simptd interest. After.5 years, B returned ¥ 40,000 |
and a watch to settle the dues. Find the price of the watch. ; 9 M}}_E"
(A) 4,800 (B) %3,200 (C)~%5,000 (D)’ T 3,000 \ xn%?
56. ARBTEFAR 10RAT R aEE | BaRCT ISRATRIAG A MCH 2RATRTHR g0
T A, B 3t C firerent 3@ fora faeft & qr ot Wl § 2 ,
(A) 15 B) 177 © 1087 Py 8 R AN
A and B can complete a piece of work in 10 days. B andy& cando it in 15 days. A and C can doiitin
12 days. A, B and C together can complete it in how many days ? ' : .
(A) 15 days (B) 17 days (C) . 18%ays (D) 8days PtH—10
: : , =
57. Frrifad ¥ & weel & -0 S ol e s Em € ?g :\L—-}tt—‘ !&L ‘;.Co
(A) FET-TF X N g R S Lpeat) S
(C) St — 3T X (D) _dem *E g C
Which of the following pairs of words are most similar in meaning ? ' L LO°
(A) Hard - Easy o T\ (B) Soft — Gentle (2% K’l"-‘ k
(C) Bright—Dark . (D) Buy - Sell
5§ e iy w g o i LA R HEH S § | TS, A 3 2k it S AT § | e, Tk % Sier <l AR |
¥ T d T F AR AR T, T el FE F A A G A F S Am A oA R e L 15
(A) \(BY S | (©) (D) =t G /O eY
Six friends are sitting in a circle facing the centre. Adam igg§itting to the immediate left of Betty. Charlie is
sitting to the immediate right of Frank. Bettyis sitting bet\@n Adam and Dan. Eve is sitting between Dan
and Frank. Who is sitting to the immediate left of Frank ? N"
(A) Betty (B) Eve (C) Adam (D) Chailie -"
59. RS R 7:15 w0 i R ¥ | 9 o e i gd e AR g 2 {r
127.5 feft o | ®) sfeh sz (R 1oxe
(C) 130 feht N (D) 122.5ferht )5’"" Z SR
A clock shows Ithe time as 7:15. What is the angle between the hour and the minute hand ? .
(A) 127.5 degrees &0 o ) tso®B) 142.5 degrees ° l o1
C) 130 degrees ' 122.5 degrees
(O Podemes RN les® T LOTZ.
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o R t SRR
60. ISR g hifsr -
ﬁm:ﬁaﬂj;mﬂ: A
(B Ffl @) femmEmw. () FmEm >
Complete the analogy :
Doctor : Diagnose :: Judge : : t
(A) Judgement  (B) Instruct (©) Build (D) Erecdt®
~ <
e g A )
BT T et it - Rt ¢
SRRy (A) dfem , ’”i (®) Wi
(C) Hffwem | (?: iDglin
Complete the analogy : (t]

e
v £, N e

= -

=k,
Sue<r

b AR

v

GR !
~

R ¢ BN v
w g I C*

Algebra : Mathematics :: S hony.: .~
=5 ymphnony. “1+—_‘\ : .
(A) Painting "L (B) Literature

(C) Sculpture (D) Musie

qﬁﬂﬂ%m@ﬁﬁam@ﬁ%@;ﬂ)@ﬁmsﬁﬁqﬂam(@ﬁ)%ﬁﬁﬁﬁﬁm

() 3 T 7 e & ﬁmm@%)wm@%?
(B) 3T (FTEA)

2 ot Q) T ) (D) T (er)
4! ) Et: YO}:l have a regular dodecahedron and you(hce it in half along a plane that pasSes through the centres of
) S opp051te faces, what is the shape of the crosisection ? x
‘, s A, Hexagon (:l (B) Rectangle
. ©)" Decagon (1 (D) Pentagon
63. formm ra vy )
Find the odd one. -
- !

e = =

- “ “
P

Kt

)




3 e & fFe TR a8 2
64. XA KT Il < g, wfve Y e, <aw Y T o frar A N ¥ | W,

(D) WmT
(A) wefrs (B) IME (L)

Introducing Sarath, Anila said,
related to Anila ?

(A) Nephew

w.is Sarath
He is the son of the daughter of the fathcr of m){ uncle”. How.is
“He is the

- R T

-(B) Son-in-lay4 (C) Cousin <" (D) 'Uncle
l?
65. Eﬁawmﬁqm%a‘t 12 off16 AT & fnsa R 9 o
What is the smallest posmve integer that% divisible by both 12 an | o o6
(A) 60 B) 16 b «@) 48 —
66. TRt 31T 9 v | :

Find the next figure.

©)

ﬁf%m A), (B),
67. LTI, I 37K IV i maﬁ%ﬁmmﬁ%ﬁﬁﬁﬂgggﬁﬂ ) (
(C)W(D)ﬁﬁ%ammmﬁﬁmﬁ% RIELE [ CRICIGEREERE lationship between them.
Study the problem figures marked I, @III and IV carefully to establish the relati

t ropriately
From the answer figures marked (A)/('P), (C)rand. (D), pick out the figure which most approp
completes the series.

B ?
I 11 I i;% Y o _‘
W ®I| | ® ﬁ ©| &l o | B
68. 3G ST hl TG S Tt 1 T

|
Identify the figure that completes S the pattern.

a».%

VAN




FRw e ferfe 3 o o o wrr o i i o vt 3 o vt s & |

From the given options, select the figure which will be most s&able to be placed in the last square.

A%f' o3
~ c%"‘ ‘fl: ?
) ° yg| <
1t
J
(A) # ® / © | ¥ J=
ﬁaﬁu@mﬁaﬁﬁmm%a N
How many squares can you count in the figure ?
C
e
. 3 J
e
(A) 20 \,(«B‘ﬂt% © 2 " (D) 18
+h
71, HIEEE T HIC ; )
YR : TEAT - 32t ; ? q
(A) ¥R (B) NG (D) ferdfes
Complete the analogy :
India : Asia :: Italy : ? :
(A) Africa (B) (Asia ©) E?_r pe : (D) Antarctica _
72. s i STe HEAT A o
JEe:9,27,8L,243,0 0 o€ Ly Q
What is @eﬂeq-puglb'er in the series ? (%
Series : 9,27, 81,243, N
(A) 623 _7 (B) 591 (©) 4% (D729
73, S SR I AR |
Find the next figure. /\l
* o||f *||v = 0
m A OO0 * '
® *x | 2 * ® 4
(A) (B) © ) I
A m f <] M* :
T T



74. T T 7 o et I W R, Sed SnpHt et i | % 6 et 48 T ot ST foRa, @ 38 R a1 36
e IT I e 2
A student made twice as many mistakes as he got correct answcrs. If he attempted 48 questions; in total,

how many questions did he get right ?

UM/“S * ;’é’;(B) 20 e 2
© 12 JD) 18 48 xx'/'cké’b
2R ) Z T
75. T H AWM TR : B, E, H, K, 7 r]
What comes next in the sequence : B, E, H, K, "ti
(A) R "(B) M ey N (D) L
76. e HumMw R < ;
(A) T NPy © &= 'S
@ 1992 TE TR 3 ferrar i & 2
(A) €. fira v g X \ By R AT
(C) Tmfrerms ymi (D) HeI AN
8. ‘qﬁ’mﬁﬁaﬁmmmaﬁé,ﬁaﬁmaﬁ@g@m?
(4) W \@y" 2C) T @7
79. ‘e @ Rreim e ¢)
Oy e (B) ¥ Hie), wd (D) g
80. “wfreher ¥Ieq H SHH-H I TIE & ? %:'
(A) T BT ufd 7{C) ¥ (D) W&
Freren” Forer e AT ¥To5 8 2 <?1
7 T (B) FFOR _(©) T (D) ¥ X
82, ‘TS’ YIeC T yATFATH! Y158 Sy |
(A) By (fria (C) iehat (D)
83. WABIR: \
Wy FeamhE (B) ord-fawmmith o0 BELIEED (D) Forammfes
84. HH-HT IR feram-fdIaur g 2 58S
(A) e (B) et "&29’ ot (D) e
85. ‘m@-qEly H FI-AT WA G ? '
(Y T (B) =gslife h} (D) 5%
86. *31Ta FAORT A1 SR’ FIRITh hT 37 AT AT R 2 O |
(A) HieRT T <B Tr=Ta <t Rurfa
(©) W T (D) T 6 R
87. = waf fone T o 3feia AT @ ?
(A) woHat (B) sfgaast .o (C) Hwadt Dy & T



88, PR s 3 o Rrepest 8 i e 0 A foghe T |

| xzﬁuﬁﬁ ®) ;T%T-qugzﬂ \Bf S
89. ﬁﬁﬁﬂﬁﬁ?ﬁ? we§ ATl (D) it - Frmet .
‘. "::fo.' | ‘(i?,rjwmmgajﬁm: ;ﬁ; (C) =R !i‘-;""--""»‘:(D) e
e ew g @ e
. |, 92 @ 96 TS ¥ i

Sy i ot e e 6 g o gl P R ® | facfe ST 5 W i w3 g et
wﬁaﬁnwﬁsaﬁm@lﬁfﬁmﬁﬁaﬁﬁ?ﬂqm%m, &, e, i, anfe it 2t vy
et 3 P ) Jeom 2t s v s i R Y ST | S R S I 5 e v 2
St 2T T ST S 35 e re-aor 35 e R 31 S Ry e B R AT = € ¥ | 9 et
maﬁwmg-%sﬁﬁmwmﬁm%mﬁﬁwﬁmm|®®mm:mﬁzaazsragﬁa;
el S 7 F9 MCE, m:gaﬁﬁﬁrﬁamfm%ﬁaﬁaﬁﬁﬁr‘@ﬂl aﬁ:gﬁmwmmm
9T 1 7 € 8 S |_-Wﬁ:mwﬁﬁ@ﬁm@%|maiﬁ#hﬁsﬁﬁmmq§,w%
mmﬁwmﬁdmm%ﬁﬁmﬁaﬁ%ﬁmmﬁ@ﬁm%laaa%ﬁqﬁavﬁaﬁmmm
aﬁmﬁi%s@wﬁﬁﬁ%qﬁ@ﬁmﬁﬁIﬁm%ﬁﬁﬁwaﬁjﬂmﬁﬁMﬁqmﬁﬁm%\

02. T A Y ST R T A AL

Ay ST Y 3 ifth A e o ,‘ig (B) mifeer I fowm & .

(C) S & g8 weiet formamefien & o O Fifr, w1, fore-o wim i wfoerat @
93. a%a%%mgngﬁmﬁmmﬂwwﬁw@a ) .

(A) O GETER T A 3 Se A (B TS W T

(C)  3Tat-oet SRl & il & o I | (D) Y-S TR SATIR S  Ieed &
04, I TF YRieRUS TR €1 & il

Maﬁﬁmmaﬂtwﬁmﬁwa‘rm (B) QI < oAt HATE 3 gt H I S € - |

) W FTEE A TemaTRE]) (D) AW W rEEd ot yEEd S IR R

95. S TN T S e T 7 g
&) fradverE fee it () Pl o fowa i
(C) T SR TS &1 ¥ O O feeft forva 7 0 fensfifient
96. wmmmﬁmﬁwm \
(A) s forr ¥ (B) = it =hi ey wiererut
(@ Y v, \(PrH % T
97. e oren o syt st 3 o, e o e 2 ST Bl B, e - AT A 2 9
FAE -, (B) femEm N TE (D) wrEaT=d
(O S 7




) ST L W | TS
i {1 -‘xrm;ﬂma"!urms, ¥ n iy

98. ﬁn%f@aﬁﬁﬁq-mwwﬁa?a‘f%?
A) FomEys -

(B) forar-farsiwer (C) HRRYEIH oy
9. 5 o & v arprg 3 9 . _
(A) Tger N g a9 \@/ﬂﬁawmmg
©) TEETEEwEy () (D) TEENHGE
100. a%-—r-mm‘wwwaaww%? o
@ Frg BT g (C) (B) =t
101. ﬁw%%aﬁ%ﬁw—mmﬁ«im%?
(&) g (B) W ﬁ (©) ey e 24¢
102. et & & Sar sy a2 9 aQ 2
(A) T ¥ B) 3 g ©@x wr
103. TG T2 0 Ay
(A) T (B) TEM NGy AT (D)
104. T f5ham < 37 ot e v arelt fpa St 2 - D) s Rear
&) YommtET (B) R B e e B
4 ) 9
( “Teh YA T hl e i & o N S
(A) ERIKSICl ® w0 () emmEEh . \@y I
. ' r’
106. Waﬁﬁwm%m%’f{qﬁ“ ﬁ'ﬁﬁ?{i-w 0y TR
(A) whtm B) @l
107. 37eh 31631 o oA Toh ¥1ee shi w1 IR : S
[EGEERIEE IR ~ s j
(A) o (B) et (C) afgm N2y~ .
108. it ave= & g o) geransEEy |
iyt ol | it FHE PR
A) . e (D) il =T
(C) FISH °§*-’% =
% o i o e gzh-rrééw 2
109. ﬁwm a;miﬁf:g - B s R i el s e
() SergeTEaT $t (D) Sh R e
110, AT 7 kT T J © (D) wferer
B = (B) ® ,
Y ®:
11, “FEraa wes ¥ $Iw e (D) e
(C) ®&a (D) =
(A) =d \@(W
112, ‘3gyd W’Wmm%&a) - (C) Wy wrfem
(A’mpgmn """""""""""""""""""
KWU-.24



113, 7 %5 fre o g :

e FepTer apT T R 7

() mwmxmaﬁmmawﬁwm@
(B)  Tteoer s <y e o FoT STepfe e shearfed

(C) fiamey S 2 B e *

\DY” TN 3 a5 e e e i F0

Ve
I(l;\ what ways does Green Finance support sustaina
) By fac11itating the growth of industries known

(B) By encouraging the exploitation of natural resour-é:f
[nl4]

(C) By funding fossil fuel projects
(D) By providing financial resources for environm

114, Wﬂ@ﬂtmﬁaﬁaﬁaﬁmsﬁ@ﬁaw%?

ble development ?

i issions
for.high carbon cmi . ‘
Sgwithout rcgard for enwronmental impact

eﬁf}illy friendly projects

et

What is the highest GST rate levied on white goods 2] ) 18%

(A) 28% - (B) 25% @ 12% v
115, @ %7 gl 71 a1 2 )

(A) FrRTUSE IaH (8) i g 3

) GeE (D) FmHEE gt e

India’s largest forest is

(A) Kanha National Park (B) Gir National Park

(C) Sundarbans " (D), Jim Corbett National Park
116, ‘oz gt SR 5 A S for wee A e s ST 3 € 7

(A) T o By @ ‘i) e (D) T

“Lathmar Holi’ is a uhique celebration observed in which town of Uttar Pradesh, mentioned below ?

(A) Vrindavan (B) Barsana '(d) Mathura (D) Agra
117, TR e e fo et A wren e ? e

(A) ST B) T (& Ty (D) e

In which district was Uttar Pradesh’s first Traffic Park‘opened ?

~ (B)Amethi ~ {d) Gorakhpur (D) Ayodhya

(A) Prayagraj
PMIDY e 7 §5 ?
(A) 3037, 2014, | (B) )28 3T, 2014

When was PMJDY launched™?
a) 30™ August, 2014 (B) 28™ August, 2014

119. ﬁm%%ﬂﬁﬁﬁ-w%mw%mﬂﬁwﬁmmqﬁm%?

>
'(Cg |5 3FTe, 2015 (D) 2 3T, 2015

© 15" August, 2015 (D) 2" October, 2015

(A) ST (B) WM NZ GGG D) =
Which of the following country does not share a land-houndary with India ?
(A) Bangladesh (B) Myanmar |;3 Maldives (D) China
120. m@ﬁwﬁ%&ﬂmﬁ%&ﬁwaﬁ@m{?
(A) THE@HEIE (B FfEmE TG (C) THRFIG B T TS

Which battle marked the beginning of the British cofor} al rule in India ?

(A) Battle of Panipat (B) Battle of Wandiwash
121. 1 e TR e S TR 2

= e IS
(C) T o T

ﬁC) Battle of Buxar

'8 (D) Battle of Plassey

@) e efaeh

What is a significant environmental impact of urbanization ?

(A) Higher carbon emissions
(C) Decreased air pollution

(B) Increased green spaces
(D) Improved water quality




122, TTHAT T8 7 3} 2
(A) et Feadias I uge
(B) 3q‘il‘iaﬁﬁaﬁrﬂ%ﬁﬁrmmr@%mm
(©) gwwﬁsﬁm. i e ol
- . \ o1
4TD)‘1 mﬁmﬁmm%%ﬁﬁaﬁﬁﬁ"w“%
A:e term Ransomware means : B
(B) Unauthorized access to a network :H:
(C) A malware that monitors user activity )
(D) A type of phishing attack - ‘
(D) A software that encrypts files and demghyls a ransom

123. Ty Taeh, ot vt ue e =it o \q—:\-’%@n—gaﬁ?

ThEw s :
((‘gf S T (B) a‘qwaﬁm
(D) wEwed!
\(?Xho \;{Tot.e the book ‘Sadgati’, on which a film was made ? o
C) arivansh Rai Bachchan (B) Jaishankar Prasad
(C) Premchand 1 (D) Mahadevi Verma
124. Tr=fafas § & g o wedr o ' 7
(A) . T e m%ﬁ m@% B
©) wwfdE ) L ) e eereearél
Which of the following former Indian Primehg\/’inistcr did not receive the Bharat Ratna ?
(A) P.V.Narasimha Rao e (B) Manmohan Singh
(C) Charan Singh : (D) KalBahadur Shastri
125, ST S S SO e ST S T ST o 2
A R o @) memitmd] o erEe R (D) i e
First census in India was conducted at the timesof whichruler ?
(A) Lord Lytton (B) Sir John Napier (C) Lord Mayo (D) Lord Auckland
126. oy oreh & el o st 1 AR TSI T € i | ' ,
(A) @H (B) &R R % sk S ER (D) fewfam
means taking forceful contrel of another person’s website.
(A) Spam (B) Hacking :’;‘ (C) Webhijacking (D) Phishing
127. WRd aﬂrmﬁﬂﬁaaﬁaﬁwﬁaﬁmﬁa@mw% ?
(A) e (e @)y T ryNEY SR (D) T
Due to which river has an issue been created, ;gtween India and Bangladesh ?
(A) Teesta (B) Yamuna ‘,ﬁt} (C) Brahmaputra (D) Ganges
- Ny N
wﬁwa@ﬁﬂwﬂw gl
When did World War I begin ?
(A) 1920 1930 (©) 919 ) 1914
129. mmﬁm%&w%mm%? M
(A) sfsgaar (B) g e
(C) 3 WAl Wy fy ad aa
The Harappan Civilization is also known by which other name ?
(A) Dravidian Civilization (B) Vedic Civilization
(C) Aryan Civilization (D) Indus Valley Civilization
"'“"‘"""'f""""""'"""'""""b’a};ﬁﬂ%i& """"""""""""""""""""""""""
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130, RE 3 St 35 e A e & 2

(A)  Sreer forgrdy arriedt B) T, AT

©) A \py wdre &

Who is known as the father of GST in India ? .
(A) Atal Bihari Vajpayee (B) H.D.Deve Gowda

C) Narendra Modi (D) Manmohan Singh NP,
e Gierer i i 3 Semmg @i o 3 G Tl T ST

(A) foiwest (B T @ XE&) () T nd Sma
Which social media platform introduced the conceptjof “Fleets”, similar to Instagram Stories pchat

Snaps ? .
(A)p LinkedIn \(BY” TikTok %} X (Twitter) (D) Naukrl
132, e T R s orgere Rt et st Py vt e 0 T 8 2
(A) TREFETTET By R \(gj e (@ eEn (D) A
Which term describes the process of assigning numbers to observations according to specific rules ?
(A) Hypothesis Testing (B) Analysis (C) Sampling (D) Measurement
133, STl ST 11 T e T i (3Heafn B ) A € 7
(A) T35 19 (B) =T 22 ) eies 14 Py a2l
Which Article of the Indian Constitution deals with té freedom of speech ?
(A) Article 19 @B) Article 22 Article 14 (D) Article 21
134, T o foFer et & ST % 90% Bie ER S i 2 44
@) B T D () T wpf &
\{n which city of India are 90% of the world’s small djgmonds processed ?
(A? Mumbai (B) Jaipur (9 Baroda (D) Surat
. 201\ SR 5 SFER Mg A g e <] R
The total forest cover in India as'per the 2011 census is .
(A) 23.42% (B)) 22.07% - (C) 17.80% (D) 21.05%
136, FH-8T ST TR Ty G, e 39 e T i s 3 fore st ST 2, S o st et el
o fTT U SERG i AT ST @ 2 -

(A) T ®) . (O vt \(D e

Which ancient Indian text is known for its detailed tf23tise on music, dance and drama, and is considered a

foundational work for classical Indian arts ? :

(A) Manusmriti (B) Vedas (@) Arthashastra (D) Natyashastra =
137. eI qafnivr G foemr s (IBRD) #4187

Mﬁ@@ﬁwm%sﬁmmm ferermar o e g e @

(B) TE Ueh QU TiTaA & ST AT sifehrT JoTred! s I TR LT &

(C) T2 T ey o §eur & i1 ey <uil it 1ef5/1a Hemar Ser e &

(D) I8 T e e e & < B1e sxaamai i | 70 e et 2 X)

What is the International Bank for Reconstruction and Development (IBRD) ?

(A) Itisa United Nations agency that focuses on poverty alleviation and social development

(B) Itisan international organization that regulates and supervises the global banking system

(C) Itisan international financial institution which provides financial assistance to member countries




138, B i, v =% fersmrerstier 271 3 R seaer i sea@da 2 @ o, # e w0 & e 4/
@{mﬁaém—.ﬁ% E 7
(B) iferer et & irp

AT w9 Y wuiaha wast o

(D) 3= It P 5 it o PR A o

The Green Revolution, which significantly increased agricultural production in many developing

countries, primarily involved : e
(A) Advanced irrigation techniques ‘Cj
(B) Organic farming practices O
(C) Genetically modified crops ‘::3

‘ (D) High-yield variety seeds and chemical fenilize;f}, _ _ .
@gm%ﬁﬁm.ﬁ-memﬁ%mmm%wmﬁmﬁw3;‘3“’“:' |

(A) SATERIRG STEH (B) T fageor |
(C) Torafe argeum (D) SRR STTHET I
The research that applies the laws at the time of field study to draw more and more clear ideas about the 1
problem is : O |
(A) Applied research 'ﬁB) Research analytics
(C) Action research X f»('D) Expérimental research

140. ¥ Fi fFraferances wei Rua g 2 : Y
(A) wRmEmE By TR HAC). HT (D) 3T 5T
Where is the Central Agricultural Uni_versity situatefc:ﬂ? i~
(A) West Bengal (B) Uttar Pradesh 2©) Manipur (D) Andhra Pradesh ¥

'mﬁmqﬁaﬁaﬂa@qﬁaﬁqaﬁtm&aﬁwaﬁ refRrer i 3 e A 8 2
(A) Sf 3 sl T i T ISR 31 STl 3 TS Shixd b
(B) gm@mﬁmm%mﬁ%ﬁummﬁwmﬁ%maﬁﬁ%ﬁﬁﬁﬁ%m

(©) et s B T e et e we 3 e T X ‘
(D) 3TRHee HE) T STUS S 1§ FH, |

How does the Arctic Councilhelp in addressing clinfjte change and Arctic governance ? =
(A) By focusing on promoting economic developgent and resource extraction in the Arctic

(B) By regulating asa governing body that dictatgg.laws and regula.tions for all Arctic nations
(C) By levying sanctions on member states who a"‘i’@ not complying with environmental regulations
(D) By coordinating international efforts on Arcti¢fissues

142, T 36 oI T el T 91 2 J -
(A) <. SREdT (B YRz I &
ey <. TR yEe (D) ST et
Who was the first President of India ? \
(A) Dr. Zakir Hussain (B) Shankar Dayal Sharma
(C) Dr. Rajendra Prasad (D) Pratibha Patil
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143, WETRIEHR 3§ 2T e @ - o
(A) i arfire (B) et 7T A
T 3 feraTfeRT (D) aqfeyerTe 3t farfeeRR
Human rights entail both :

(A) Rights and obligations _(B) Liberties and obligations

) (D) Rights and privileges

(C) Liberties and privileges e
144. spacex_qgaﬁ?ﬁa"rwtﬁﬁthﬁﬁ aiaﬁamﬁﬁ?%’r%-@nw%ﬂﬁﬁ ?

(A) % _{f\aa)/ (SRR

(C) india STafel el () faie

Who co-founded SpaceX — the first privately funéé(‘_d space programme ?

(A) Jeff Bezos <j (B) Elon Musk

(C) European Spacc Agency . 1 (D) Bill Gates

145, UNCTAD & Ul T FI18 ?
(A) Ifrde TE HE A & U SaevHe
(B) TTEES HI HiF S TS SIATHE
(©) TS e o 3% e A
(D) T A el e igSaame ()
What is the full form of UNCTAD ? o
(A) Universal Nations Conference on Trade and eve]opment)Q

«(BJ United Nations Common Trade and Develghment .

(C) United Nations Conference on Trade and Dév;elopment X ,
velopment X

(D) Unique National Conference on Trade:and

'?o WWW%RWW@WW%‘%}W%”
(A) o IR (B) AR M) Hew (D) =i g
Who suggested that ‘‘Everyonéhasa specific b]o%:l group”’ ?

(A) Louis Pasteur (B) Landsteiner (C) Mendel
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Sofia is the capital of which country ?

(D) Darwin

- (A) Bangladesh (B) Bulgaria qﬁ (C) Afghanistan (D) Benin
TR TR T - STEE gt Wﬁﬂﬁﬁﬁﬁﬁﬁﬁ%?
(A) =R 73 \@)/ AT 75 :(tl (C) ¥R 72 (D) 3T 74
Which Article of the Indian Constitution deals w‘iﬂ}. the power of the President to grant pardons ?
(A) Article 73 (B) Article 75 () (C) Article 72 (D) Article 74
@ et it w1 i SR © P
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The primary aim of a co-operative society is to:
(A) Serve the members (B) Raise more money (C) Earn more profits (D) Raise production'
e e 3 forw Frefefiad & - e Rie e 2

Which of the following institution is responsible for cyber security ?
_____ (A) CERT-In (B) DRDO % (© RAWY 21 NiA
W24 N ¥




